
Problem 1 :  Consider the following matrices:   

 

𝐴 =  [
3 −1
6 −2

] ;   𝐵 = [
1 0 −2
0 3 −3

]  ; 𝐶 =  [
−1 1
2 1
0 −2

]   ;   𝐷 =  [
1 −3

−1 −4
] 

 

Compute the following :    

- ( AC ) 

- ( BC ) 

- ( D – AT ) 

Solution 1 : 

𝐴𝐶 =   [
3 −1
6 −2

] [
−1 1
2 1
0 −2

]   𝑛𝑜𝑡 𝑝𝑜𝑠𝑠𝑖𝑏𝑙𝑒 𝑏𝑒𝑐𝑎𝑢𝑠𝑒  𝐴2𝑥2  𝑎𝑛𝑑 𝐶3𝑥2 

 

𝐵𝐶 =   [
1 0 −2
0 3 −3

] [
−1 1
2 1
0 −2

] =  [
−1 5
6 9

] 

𝐷 − 𝐴𝑇 = [
1 −3

−1 −4
] − [

3 6
−1 −2

]   =  [
−2 9
0 −2

] 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Problem 2 : Express the inverse of the following nonsingular matrix as 

products of elementary matrices:  

[
2 4
5 8

] 

Solution: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Problem 3 : Use the inversion method to find the inverse of the following 

nonsingular matrix: 

[
−2 0 1
0 −1 −1
1 1 0

] 

Solution:  

 



Question 4:  Choose the correct answer 

1- 𝐼𝑓  𝐴 = [
5
3

−2
]  𝑎𝑛𝑑  𝐵 = [

−1
2
1

]   → (𝐴 + 2𝐵)𝑇 is 

a) [0 4 0] 

b) [3 7 0] 

c) [1 2 1] 

d) [1 2 −2] 

2- If  AB=I, So B must equal to 

a) -A 

b) AT 

c) A-1 

d) I 

3- 𝐼𝑓  𝐴 = [
1 1 0
2 3 −1
0 −2 1

]  𝑎𝑛𝑑  𝐵 = [
1
2
1

]   → (𝐴𝐵) 𝑖𝑠  

a) [
0
2

−1
] 

b) [
3
7

−3
] 

c) [1 7 −3] 

d) [0 2 −1] 

4- 𝐼𝑓  𝐴 = [
−2 4
0 1

]  →  𝐴−1  is 

a) [
1 0
0 1

] 

b) [
−2 1
0 1

] 

c) The matrix  A  is singular 

d) [
−

1

2
2

0 1
]  

 


